=A%t A =1(1,2,3,4,6,7), B={1,3,6,9}°] ti5tedl AnBStAUB
7t EHtEA] #=] o7 729

® AnB={1,3}, AUB=1{1,2,3,4,6,7,9}
® AnB=1{1,2,3}, AUB={1,2,3}

® AnB={1,2,3,4,6,7,9}, AUB = {1,3,6}
@AOB:{LS,G}, AUB={1,2,3,4,6,7,9}

® AnB={1,3,6}, AUB : {1,2,3,4,5,6,7,8,9}




T At A, B o tiste] A = {11, 13,15, 17} , AU B
{11, 12, 13, 14, 15, 16, 17}, An B = {11} & o}, A5 B & 5}

o2},
g

>
> HEHD {11,12,14,16)

B

.. B=1{11,12,14,16}
12




AAES U o 3-Fol obd F F23S A, B ol Hist] b5 &
S B2 A7

D® Ang=0 @ Aug=A

® A°=U-A @® A-B=A-(ANB)

® Wl tholol13e LW cha v Ae.
A B A B

A-B * B-A
L A-B#B-A




4. AAYRFU=11,2,3, ---,9, 10} FHEHFA={(1, 3,5}, B=
{3, 6, 9,}° tate] AU (A°n B) & Fatolzt.

> E.

> Hehl (1,3,5,6,9)

AU(A°NB)=AUBo|ER
AU (A°NB) ={1,3,5,6,9}




)
ol

.
H

la, b, ¢, d}, B={a, c, e, f} ol 5t (AnB) c X c

F AT A=
£ WESHE W x 9 e

(AUB)

@ 87 @ 1074 ® 1274 @ 147Y @16 A

{a, cycXcla, b, c, d, e, f} O|B&

A XEla, b, c, d e, fI1AFENAY FTa, cE
Hgtolrt,

wrabA 9t x 9 = 21 =16 (h) o]t

e

Ea=s

o
rr




A% ko] Mj5E 942 ohe TS A 2 T, (A5 N Ag) 5 A, <]
ko] 22 %IECIE]'O]'J—(AngAlQ)CAkO]k—/]qtﬂaabﬁ'?—_}mﬂ
a+bo g7

@ @0 010 @1 ® 27

—€B ~
(A1 NAg) DAL k=496 o FHjgolBZ k O] &7k 4
o} 6 o HAaFHlS 12 olth. (AgUA) c Ay Sl k=8 112 9
FoFgo| B2 k o] FHTigh2 87 12 O] FHtfFe4 40},
LA aE 12010 HAGT b E4OIER a4 b=12+4=16




:_._%o#aﬂw_
Mo — °
1L
R
mmoate_o
@‘_H%rﬂ
fife) EO
H oy I o
W.O”ﬂﬂo__o
(o) dlﬂl”
O_E,.A_uu_l_-lmmo
FHET
o
= .‘m_.o@
=T K
_A,m.nml .
oo B
o| = %o gu
RO N T mO
ur_HEE%AA
W5
%%%m
%ﬂ_._n_moﬂﬂ
=0 ) B W
Bl
m_-ﬂo_aeoEA
1)z P
ST FH

@214 @22%‘ @23%" O©2uY

® 207

=35-4=31,
=31-9 = 22

(A)+n(B)-n(AUB) =28+ 12-31 =9 oJt}.

(U) = n((AU B)")




8.

i)
N 9

AAAT U = (x | x= 15 o5t &

{1, 3, 7, 11}, B={7, 13} o], th-& H7|ofA &A] &2 A2

H7]

@ ANB={T)
© AnB ={(1, 3, 7, 11}

© A°NB={13)

® A°UB°={(l, 3, 5, 9, 11, 13, 15}

@ A°NB°={5,9, 15}

=
=i

>
>

02
oz
©

~&B

U—{l 3,5, 7,9, 11, 13, 15},
={1,3, 7, 11}, B={7, 13}

@AmBC— -B=1{1, 3, 11}
© A°NB=B-A={13)

@®A°UB = (ANB) =11, 3, 5, 9, 11, 13, 15}
@ A°NB° = (AUB)" = {5, 9, 15}




AAAE U = {alrs & 2] A%} o £ 22 A, B o] disto]
B=1{2,4,6,8,A°=16, 7, 8,9}, ANB°={7, 9} &4 1, (A—B)C
2 Jajelat.

> E.

> HE (2,4,6,7,8,9)

~&B ~

U=1{1,2,3,4,5,6,7,8,9)
A=U-A°={1,2,3,4,5}°]|22
A-B=1{1,3,5}

(A= B) =1{2,4,6,7,8,9}




10.

pal ;‘q] 2] z‘ﬂ- U =

C=1{1,25)

{1,2,3,4,5} 2 Al
o Al A%XB = (A-

o 2:0] G2 Fohu?

@5

== o)
R

=1{1,2,3}, B = {3,4},

ki (A*B)*C

B

A% B =
{1,2,4}%C = ({1,
{4

@ 6 ® 7 s @)
(A=B)U(B-4) = (1,2,4)
4} —C) U (C—1{1,2,4)

(A% B)*C =

2
,5}
{4,5}




